AUTUMN LLEAVES

EXEQQISE L - APPLIES THE FIZST TWO NOTES OF THE Cov Me A Rivee Liek (CMAR)
USING THE BASIC PROGRESSION WITH FEW ALTERATIONS
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1, AUTUMN Leaves
Coy Me A RIVER eXEQDISE

Exeeaise £ - Uses THe eNmiee Cov Me A Rivee Liek (CMAR)
OVEQ THE BASIC PROBRESSION WITH FEW ALTEQATIONS
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YOU HAVE TWO cHoleeS OF CMAR IN MeasLRes 27 aND 29. Ly
E1THER OFe THE MINOR 02 ALTERED DOMINANT. A ’
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% AUTUMN Leaves
Coy Me A RIVER EXEROISE

Excenise b - Uses The eNTiee 0oy Me A Qivee Lick (AMAR)
OVER THE BASIC PROGRESSION WITH ALTEQATIONS
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YOU HAVE TWO CHOleES 0F CMAR IN MeAsLRES 17 AND 29. :&ibo bl
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